Be the Teacher

For this task, you are going to imagine you are the teacher.

Look at the calculations that Sonny has completed. Complete your own calculation next to
them so you can work out whether Sonny’s answers are correct or incorrect. Mark them with
a tick or a cross and circle his mistake. Write a comment for Sonny to help him improve and
give him a mark out of 5 for his work.

The first one has been done as an example.

51| 3 5 3
X 2 4 x 2 | 4
2 |1 2 2 1 2
1 0 (o) 1 0 6 O
31 8| x 12 7 2
1 2 | 6
x 1 | 4 x
1 0 4
2|6 O
3 6 6
2 3 2
x 1|5 x
1 6 O
312 0
4 8 O
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3 2 8
x 2 | 3 x

8 | 4

516 |0

51 4 4

4 5 1
x 1 8 x

4 0 | 8

5 1

4 59

5 2 | 6
x 32 x

5 2

1 8 O

1 3 2

Mark out of 5:

Comment:



https://www.regentstudies.com

Be the Teacher

For this task, you are going to imagine you are the teacher.

Look at the calculations that Sonny has completed. Complete your own calculation next to
them so you can work out whether Sonny’s answers are correct or incorrect. Mark them with
a tick or a cross and circle his mistake. Write a comment for Sonny to help him improve and
give him a mark out of 5 for his work.

The first one has been done as an example.

12 3 12 3
x 1 | 8 X 1 8
9 8 4 9 8 4
1.2/3 0 12 3 0
2 (D)1 4 x 2 2 1 4
1 2 4 6
x 2 | 3 x
7.3 |8
49 2
1.2/3 0
2 1.7 9
x 2 | 5 x
8 9 5
3.5 80
43 75
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x 1| 6 X

2 510 2

4 1 7|0

6 6 |7 2

4 3 2 5
x 2 | 7 x

2 2 7 5

6 5|0

29 2 5

5 4 6 |1
x 32 x

9 2| 2

Mark out of 5:

Comment:
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Be the Teacher

For this task, you are going to imagine you are the teacher.

Look at the calculations that Sonny has completed. Complete your own calculation next to
them so you can work out whether Sonny's answers are correct or incorrect. Put a tick if it is
correct and if it is wrong, put a cross and explain what mistake has been made. Give Sonny a
mark out of 5 at the end.

The first one has been done as an example.

4067 2 46 7 2
x 1 6 x 1| 6
28 0 32 2 8 0 3 2
467 2|0 46 72 0
(6) 4 7 5 2 «x 7 4 7|5 2

Comment: 8 + 6 is 14 but you have forgotten to carry the 1 into the ten thousands column.

1. 5 6 3 4

X 2 3 X

Comment:

2. 8 2 3|5

11399 9 5

Comment:
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0]
4 | 8 3 |4 0
4

6 2 8 2
Comment:
4. 3,7 1 3
X 3 2 x

11 1 39

1 8 5 6 |5

Comment:

5. 8 6 13

1,7 2 26 0

2 0 6 7 1 2

Comment:

Mark out of 5:



https://www.regentstudies.com

